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Question Number : 1 Question Id : 97675521623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four statements are given, followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at
variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:

I. All actors are producers.

II. No director is technician.

III. All musicians are producers.
I'V. All producers are directors.

Conclusions:
I. No actor is technician.



II. No actor is musician.
III. Some actors are musicians.

Options :

1. ® Only conclusion I and II follow

2. % Only conclusion I and III follow

3. ¥ Either conclusion II or III and I follow

4. % None of the conclusions follow

Question Number : 1 Question Id : 97675521623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 2 Question Id : 97675521624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the Venn diagram that best represents the relationship among the following classes.

Penguins, Alligators, Reptiles
Options :

.©0

2. %

Question Number : 2 Question Id : 97675521624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

OO0

Question Number : 3 Question Id : 97675521625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter cluster will CORRECTLY replace the question mark in the following letter cluster series?

SDQW, VGTZ, YJWC, ?, EPCI
Options :

1. ¥ BMZF

2. % BNZG

3. ¥ CMAF



4. * BMYE

Question Number : 3 Question Id : 97675521625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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SDQW, VGTZ, YJIWC, ?, EPCI
Options :

1. ¥ BMZF

2. % BNZG

3. ®* CMAF

4. * BMYE

Question Number : 4 Question Id : 97675521626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter cluster in the given letter cluster series is WRONG?

FORTY, GORTY, GPRTY, GPSTY, GPSVY, GPSUZ
Options :

1. * GPRTY

2. % GPSTY

3. ¥ GPSVY

4. = GPSUZ

Question Number : 4 Question Id : 97675521626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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FORTY, GORTY, GPRTY, GPSTY, GPSVY, GPSUZ
Options :



1. ® GPRTY
2. ® GPSTY
3. ¥ GPSVY
4. % GPSUZ

Question Number : 5 Question Id : 97675521627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Jerk’ is related to “Weight Lifting’ in the same way as ‘Breastsroke’ is related to ¢
Options :

1. % Polo

2. % Swimming

3. #® Cricket

4. % Tennis

Question Number : 5 Question Id : 97675521627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % gie
2. ¥ TRIDI
3. % fohhe
4. % Y

Question Number : 6 Question Id : 97675521628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A + B means ‘A is the father of B’, A @ B means ‘A is the brother of B’. How is P related to J in the expression ‘P+ K @ R @ J’?
Options :

1. ¥ Father



2. % Paternal uncle
3. * Paternal grandfather
4. % Brother

Question Number : 6 Question Id : 97675521628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« O

2. % ol

3. % qlal

4. % I3

Question Number : 7 Question Id : 97675521629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, 'he has completed' is written as 'sar kar jar', 'they have completed' is written as 'dar zar jar', 'we have completed' is written as
'nar zar jar', then what is the code for the word 'we' in this language?

Options :
1. ¥ nar
2. % zar
3. % jar
4. % dar

Question Number : 7 Question Id : 97675521629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ nar



2. % zar
3. % jar
4. % dar

Question Number : 8 Question Id : 97675521630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From his home, Vinay walks a certain distance, say X, towards the east. Then he turns right and walks 20 m. After that he turns right again and
walks 35 m. Then he takes a left turn and walks 10 m, followed by a right turn and walking 20 m. He finally takes a right turn and walks 30 m to
reach his home. What is the value of X?

Options :
1. % 40 m
2. % 50m
3.% 55m
4. % 30m

Question Number : 8 Question Id : 97675521630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
I.#* 40m
2. % 50m
3. 55m
4. % 30m

Question Number : 9 Question Id : 97675521631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster.



Options :
1. # ZXV
2. % TRO
3. % GEC
4. ¥ PNL

Question Number : 9 Question Id : 97675521631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ZXV

2. ¥ TRO

3. ¥ GEC

4. % PNL

Question Number : 10 Question Id : 97675521632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four word pairs have been given, out of which three are alike in some manner and one is different. Select the odd word pair.
Options :

1. # France : Europe

2. ¥ Beijing : Asia

3. % Singapore : Asia

4. ¥ Germany : Europe

Question Number : 10 Question Id : 97675521632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

I.QW:W



2. ¢ ST : TRAT
3.3@“'@?:@71[
4.”@%:@

Question Number : 11 Question Id : 97675521633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six students are arranged in the order of their heights. Prateek is taller than one student only. Vivek is shorter than Malam and Agyajit. Suresh is
shorter than Agyajit but taller than Malam. Gaurav is shorter than Vivek. Who is the second tallest student?

Options :

1. % Agyajit
2. ¥ Suresh
3. # Malam
4. # Vivek

Question Number : 11 Question Id : 97675521633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3f3oid

2. ¢ A

3. % HIH

4. % fqo®

Question Number : 12 Question Id : 97675521634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among five objects P, Q, R, S and T; the weight of T is 20 kg. The weight of P is three times the weight of R. The weight of Q and S is equal.
The weight of Q and R taken together is twice the weight of T. The weight of R is 10 kg less than the weight of S. What is the weight of P?

Options :



1. % 51kg
2. ¥ 45kg
3. % 39 kg
4. % 48 kg

Question Number : 12 Question Id : 97675521634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 51kg

2. ¥ 45kg

3. % 39kg

4. % 48 kg

Question Number : 13 Question Id : 97675521635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following figure series.

O = - (N | <
N o 2
< O =
Options :
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O
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¢ 0

Question Number : 13 Question Id : 97675521635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 97675521636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An incorrect order of figure series is given below. The figures are numbered 1, 2, 3 and 4. Which option represents
the CORRECT order of this figure series?

Options :

1. % 1,3,2,4
2.%2.1,4,3
3.01,2,4,3



4. %3.4.1,2

Question Number : 14 Question Id : 97675521636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT FT TF T FH A T AT § HFEAr 1, 2, 3 3R 4 F ® F gEmieg g T @
faweT o0 ampia Avl & W FH & M 32

Options :

1. % 1,3,2,4
2.%2.1,4,3
3.01,2,4,3
4. % 3,4.1,2

Question Number : 15 Question Id : 97675521637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that has the same characteristics as the two given figures.

Al @

Options :




1. ® @
2. % @
3.¢ @

Question Number : 15 Question Id : 97675521637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id : 97675521638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

e | A | D
< V| @

Options :
1. %1




2.¥2
3. %3
4. % 4

Question Number : 16 Question Id : 97675521638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 17 Question Id : 97675521639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The figures given below are numbered 1 to 6. Group the following figures on the basis of identical properties and
select the CORRECT option.

ON®) D OO
gol.BHol,e0

-

8 <O
Options :

1. % 1,2and5
2. % 2 4and 6
3.% 1,3and 5
4. % 2 3 and 4

e —

Question Number : 17 Question Id : 97675521639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1,235
2. %2 436
3. % [,33IR5
4.4 2,3 3R 4

Question Number : 18 Question Id : 97675521640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are shown below, the six faces of which are numbered 1 to 6. Which

number is on the face opposite the face showing’4’?
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Options :
1. %2
2. %3
3. %5
4. ¥ 6

Question Number : 18 Question Id : 97675521640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %2
2.%3
3.%5
4. ¥ 6

Question Number : 19 Question Id : 97675521641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth number in the same way as the first number is related to the second number and fifth number is
related to sixth number.

7:54::?7:174::12:149
Options :

1. ® 16

2.9 13

3.% 14

4. % 15

Question Number : 19 Question Id : 97675521641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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7:54:?7:174::12:149
Options :

1. % 16

2.9 13

3.% 14

4. % 15

Question Number : 20 Question Id : 97675521642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the number set shares the same relationship as that shared by the given number set.

14, 168, 196
Options :

1. ¥ 15, 180, 225
2. % 18,254,324
3. % 20, 200, 400
4. % 10, 120, 220

Question Number : 20 Question Id : 97675521642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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14, 168, 196
Options :

1. ¥ 15, 180, 225
2. % 18,254,324
3. % 20, 200, 400
4. % 10, 120, 220



General Awareness
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Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
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Group Marks : 20
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General Awareness
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Question Number : 21 Question Id : 97675521643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following launched the rural programme “Saath” for the women of self-help groups in September 20217
Options :

1. # Rajnath Singh

2. % Nirmala Sitharaman



3. % Manoj Sinha
4. # Arjun Munda

Question Number : 21 Question Id : 97675521643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oY R

2. % fyren Sarao

Question Number : 22 Question Id : 97675521644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states will host Defence Expo 20227
Options :

1. ¥ Gujrat

2. # Mabharashtra

3. % Kerala

4. % Goa

Question Number : 22 Question Id : 97675521644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ I[SRTd

2. % HeRIY

3. % Hd



4. % Tar

Question Number : 23 Question Id : 97675521645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was given the Gandhi Peace Prize for the year 20207
Options :

1. #® Ekal Abhiyan Trust

2. ¥ Sheikh Mujibur Rahman

3. % Yohei Sasakawa

4. % Qaboos bin Said Al Said

Question Number : 23 Question Id : 97675521645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Uhdl HRIM T

2. ¢ G HoligR @AM

3. % Ylgs YDAl

4. % DIgY o gg 3 A

Question Number : 24 Question Id : 97675521646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bank recently approved UAE, Bangladesh and Uruguay as new members in September 20217
Options :

1. # Asian Development Bank

2. % New Development Bank

3. % Bank for International Settlements

4. % Jslamic Development Bank



Question Number : 24 Question Id : 97675521646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % URIH Saagdc 9

2. ¥ Y SIAUHC dF

3. % d& BR ZeARAd carcy

4. % TAMHS STATHC dF

Question Number : 25 Question Id : 97675521647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states tabled a Bill ‘right to sit’ to provide seating facilities for employees?
Options :

1. ¥ Tamil Nadu

2. # Karnataka

3. # Rajasthan

4. # Qdisha

Question Number : 25 Question Id : 97675521647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ qfieTg

2. % FlcH

3. % SR

4. % 3fifg=m



Question Number : 26 Question Id : 97675521648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following become the highest international goal scorer footballer as on September 02, 2021?
Options :

1. # Ali Mabkhout

2. # Sunil Chettri

3. % Leonel Messi

4. % Cristiano Ronaldo

Question Number : 26 Question Id : 97675521648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3fclt Hedld

2. % AT WA

3. % forge wl

4. ¢ TR IAATT

Question Number : 27 Question Id : 97675521649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Harappan city got the UNESCO world heritage site tag in July 2021?
Options :

1. ¥ Dholavira

2. ® Kalibanga

3. ¥ Rakhigarhi

4. % Rupar

Question Number : 27 Question Id : 97675521649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YIeTaRT

2. % BIAS

3. % JRANTG!

4. % JUg

Question Number : 28 Question Id : 97675521650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places is the Kumbh Mela NOT held?
Options :

1. # Prayagraj

2. % Ujjain

3. # Nashik

4. ¥ Varanasi

Question Number : 28 Question Id : 97675521650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied o 9 ford RIM IR &4 A T8 @l /2
Options :

1. % TR

2. % Jw

3. ® qIRID

4. ¢ qRIUL

Question Number : 29 Question Id : 97675521651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Where is the ‘Koranganatha temple’, constructed by the Medieval Cholas situated?
Options :

1. ¥ Srinivasanallur

2. % Tanjore

3. # Tribhuvan

4. % Kanchipuram

Question Number : 29 Question Id : 97675521651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OEHIA A Id MBI GRT FATHd BRI Hiex w8l [Ud g2
Options :

I ECINE R

2. % TOIR

3. % Byaq

4. % DHIIYRH

Question Number : 30 Question Id : 97675521652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the first issue of ‘Hindustan Ghadar’ published?
Options :

1. ¥ San Francisco

2. # Punjab

3. % Malaya

4. # Philippines

Question Number : 30 Question Id : 97675521652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Tex’ HT UG 3 BBl Y UBIRIT 31T U1

Options :



1. ¢ I WhiRRhI
2. % U9g

3. % Tr™m

4. % feldlg

Question Number : 31 Question Id : 97675521653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Polavaram Project’ is constructed on which of the following rivers?
Options :

1. # Kaveri

2. % Narmada

3. % Krishna

4. ¥ Godavari

Question Number : 31 Question Id : 97675521653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Urera=y uRAreHT 1 i fafafed & 9 feg 98 w fear marg?
Options :

1. % BIal

2. % qHa

3. % W

4. TRt

Question Number : 32 Question Id : 97675521654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has been declared the state animal by Ladakh in 2021?
Options :

1. % Tiger



2. ¥ Snow Leopard
3. # Black Buck
4. % Barasingha

Question Number : 32 Question Id : 97675521654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 fpd 2021 & TERE gRT Iy Uy it foar mar g2
Options :

1. % &Y

2. ¢ fgmdgen

3. % P

4. % SRR

Question Number : 33 Question Id : 97675521655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states Chief Minister told the stakeholders of the minority community to speak to the members to work towards effective
population control measures in 20217

Options :

1. # Tamil Nadu
2. % Uttar Pradesh
3. % Assam

4. % Rajasthan

Question Number : 33 Question Id : 97675521655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed O 3 forg Isg & gerdEl A sieudeie Yar o fgdyReb! 9 2021 § GHTd! SIH¥ReAT fAa01 Ui &1 fa=n & o o & forg
Tal ¥ §1d &R Dl Bl
Options :

1. % qierrg




2. % IWRUSY
3. 3OH
4. % IO

Question Number : 34 Question Id : 97675521656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Union Budget 2021-22, who among the following were proposed to be exempted from filing income tax returns?
Options :

1. # Individuals

2. % Senior Citizens (Age of 75 or above)

3. % Women

4. % Salaried employees

Question Number : 34 Question Id : 97675521656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eflg aofe 2021-22 H, Fyfafea & 3 fd smaes e a1fad o34 T ge <1 &1 URard far mar un
Options :

1. % il &l

2. ¢ ARY ARG DI (75 TS DI TG AT I 3ah)

3. % Higelsfi ol

4. % QYT HHRAT o

Question Number : 35 Question Id : 97675521657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was India’s rank in the World’s Economic Forum’s first Financial Development Index?
Options :

1. % Ist

2. % 9th



3. ¥ 18th
4. % 31st

Question Number : 35 Question Id : 97675521657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay o o Ha & Ugd foxila fde Yaeies T YRd &1 RIH &1 4T
Options :

1. # Ugdl

2. % ai

3. % 3GRgdl

4. ¢ oAl

Question Number : 36 Question Id : 97675521658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fundamental right recently declared by Supreme Court of India in 2020?
Options :

1. % Right to Property

2. % Right to life with dignity

3. #® Right to freedom and expression

4. ¥ Right to privacy

Question Number : 36 Question Id : 97675521658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 91 Aifeie SIfeR g1d 8 # YR & Jai Trared gRT 2020 § 9ifvd far mar g2
Options :

1. % Uiy &1 fIHR

2. % M & 1Y oA BT THR

3. % TgdFar 3R fsafad &1 SR




4. ¢ TASIdT &1 fTHPR

Question Number : 37 Question Id : 97675521659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following became the first state to complete 100% of the first dose of the COVID-19 vaccine?
Options :

1. # Punjab

2. % Delhi

3. ¥ Himachal Pradesh

4. % Goa

Question Number : 37 Question Id : 97675521659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead & ¥ @M COVID-19 JaiH &1 Ugel GRS BT 100% TXT B aTel Ugdl g a4 412
Options :

1. % U9

2. % feedl

3. ¢ fRAEE e

4, % A

Question Number : 38 Question Id : 97675521660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Space Research Organisation (ISRO) has announced to support 8 joint research projects of which IIT under RESPOND program as
on April, 20217

Options :

1. ¢ IIT Delhi
2. % 1IT Kanpur
3. % IIT Ropar
4. % TIT Goa



Question Number : 38 Question Id : 97675521660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTT 3fafer SFIHe™ TS (ISRO) A 31Wd, 2021 9 RESPOND HIAHH & dad [ 11T &1 8 T ST aRarsrH1si &1 gue=
B B! IO DI g2

Options :

1. ¢ 1T faett
2. % [IT HHR
3. % [ITTS
4. % IIT QT

Question Number : 39 Question Id : 97675521661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Exocrine Pancreatic Insufficiency (EPI) is caused by lack of
Options :

1. ¥ Digestive enzymes

2. # Vitamins

3. % Minerals

4. ¥ Hemoglobin

Question Number : 39 Question Id : 97675521661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfe:ardt SRt STt (EP) H! HH & HRUTBAT g
Options :

1. ¢ U TSTgH

2. % fqerfee

3. % QS ggrf

4. % GRS



Question Number : 40 Question Id : 97675521662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following institute launched the device to detect dangue with in an hour in 2021?
Options :

1. ¥ IIT Delhi

2. % IIT Kanpur

3. # IIT Ropar

4. % IIT Goa

Question Number : 40 Question Id : 97675521662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o 9 forg GRIM A 2021 H U 6 T ST HT UdT T o {7 IuUl dl- faam

Options :
1. ¢ 1T feeh
2. % [IT YR
3. % [ITAUS
4. % 11T TqT
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Group Id : 976755754
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Arithmetic Ability

Section Id : 9767551184
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Question Number : 41 Question Id : 97675521663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1

The value of 3 + (2—|— T )X fesogiB g
34— 38 3

1.25

Options :



2:1
4.« 6

Question Number : 41 Question Id : 97675521663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3+(2+31l)x 1i+§a:rm?ra=mgﬁ?rr?

Options :

Question Number : 42 Question Id : 97675521664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF of 3366, 3927 and 5049 lies between:
Options :

1. % 500 and 525



4 % 600 and 650

Question Number : 42 Question Id : 97675521664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3366, 3927 3R 5049 F Hgcdq TATGS® (HCF) Fas & Ham 87
Options :

| = 500 3T 525

, % 525 3T 550
, « 550 3T 600

4 % 600 3T 650

Question Number : 43 Question Id : 97675521665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let x be the greatest number which, when divides 4453, 5553 and 5223, the remainder in each case is y. What is the
value of (2x + y)?

Options :

| ® 271



Question Number : 43 Question Id : 97675521665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A feT fF x 38 991 & 93 Feam g, 5w 4453, 5553 3R 5223 @ fownfoa = W v Tufa
H AV y F94aT &1 (2x + y) T AT FAT 27

Options :
| % 271

5 v 273
s % 275

4 % 279

Question Number : 44 Question Id : 97675521666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of two 3-digit numbers. each greater than 550, is 1215 and their HCF is 81. What is the LCM of these two

numbers?
Options :
1.« 4336



3 % 2106

4 % 2268

Question Number : 44 Question Id : 97675521666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ar 3-37hTT &0 fSaH ¥ 9cies 550 ¥ 87 g, 3 AT 1215 § 3T 359 AgedH HWEGs+ (HCF)
81 g1 3T Gl HEAT3H & Fcan HAEH (LCM) a1 grem?

Options :
| v 4536

, % 3564
3 % 2106

4 % 2268

Question Number : 45 Question Id : 97675521667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the 5-digit number 995xy is divisible by 3, 7 and 11, then what is the value of (4x — 3y)?
Options :

1. ® 19

2. ¢ 21



3. % 25

4. % 17

Question Number : 45 Question Id : 97675521667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg 5-37Rr Fr v @EAT 995xy, 3, 7 T 11 ¥ = g, ar (4x - 3y) T AF FAT gE?
Options :
1 = 19

7 o 21
3 ® 25

4. % 17

Question Number : 46 Question Id : 97675521668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx =1+ 2005 X \fl—l— 2006 X 14 2007 x 2009, then what is the value of VX ?
Options :
1. % 2005

5 & 2006

3. ®% 2007



4 % 2008

Question Number : 46 Question Id : 97675521668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TfE x = 1 + 2005 X 142006 X V1+ 2007 X 2000 &, aF Vx &7 AT FIAT =2
Options :
| = 2005

, v 2006
s % 2007

4 % 2008

Question Number : 47 Question Id : 97675521669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hema gains 12.5% by selling an aticle for Z 630. If she sells it for 574, then her gain/loss percent is
Options :

1. % Loss 2.5%

7 « Gain 2.5%

3 # Gain 0.25%

4 % Loss 5%



Question Number : 47 Question Id : 97675521669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG F 2 630 H A= I FAT 12.5% F AF UIoT FI ¢ Al 3¢ $W 2 574 F A g, A 37
ATt/ giaera &7 gem?

Options :

| % 2.5% @it
> v 2.5% aT

3 % 0.25% wTeT

, % 5% @i

Question Number : 48 Question Id : 97675521670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By selling a chair for Z 1,560, a trader suffers some loss. Had he sold it for ¥ 1,776, he would have earned a profit equal
to 20% of the loss suffered earlier. What is the cost price of the chair?
Options :
| = ¥1,680



Question Number : 48 Question Id : 97675521670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS FH H 2 1,560 FH F= W TH AN H! $O g gl g1 Tfe 38 58 2 1,776 H =7 g, ar
38 79 H g5 @ & 20% F TET 0T gaTl T H FT Ao F 7

Options :
% 1,680

, x 21,710
L v 21,740

4 = T 1,750

Question Number : 49 Question Id : 97675521671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of acid and water in a solution is 5 : 7. In 360 mL of this solution, how much water (in mL) should be added to
get a solution containing acid and water in a ratio 3 : 57

Options :

1. #® 35

2.« 40

3 % 45



Question Number : 49 Question Id : 97675521671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v faerae # 3Fer AN 9 F7 9T 50 7 81 Feaa 7 3rer AR 9l F e a #3065 A F
forT 360 mL Terae & Baar = (mL &) Bemar smar mfge?

Options :

1. % 35

. v 40
3 % 45

4 % 90

Question Number : 50 Question Id : 97675521672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the present value (in ¥) of a sum of T 18,522 payable after 3 years at 5% p.a, interest compounded annually?
Options :

| = 15,000



4 = 16,400

Question Number : 50 Question Id : 97675521672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Thglie sAT 9T 5% A & ¥ 3 I & a1 & 2 18,522 & J=-Ufy & A Hog (2 #)
T gem?

Options :
| % 15,000

, % 15,500
5 » 16,000

, = 16,400

Question Number : 51 Question Id : 97675521673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A trader sells an item at T 396 after offering a discount of 12% on its marked price. Had he not offered the discount, he
would have earned a profit of 20% on its cost price. What is the cost price (in ) of the item?

Options :

1.« 375



Question Number : 51 Question Id : 97675521673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UH T T TG H 3T Ahd Hed W 12% FT T T 2 396 H d9ar g1 ARG 3T TE 4T &
g, a7 38a 38F FF Aed W 20% Fr a1e7 Afoa far g@am avg & %7 7577 (2 #) 747 27

Options :
| v 375

, % 380
s % 350

4 % 360

Question Number : 52 Question Id : 97675521674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIxX years ago, the average age of Rohit, his wife and daughter was 30 years. Also, 8 years ago, the average age of his
wife and daughter was 21 years. What will be the Rohit’s age (in years) after 3 years from now?
Options :
1. ®% 50



ha
#
LN
L

Question Number : 52 Question Id : 97675521674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE 9 93, AFa, 30T Tt 3R 48 Fr 3iwa g 30 I o @y &, 8 I IF, 3WH T A 5
#r Aaa 3g 21 aF oOf 3w F 3 ¥ g WfeF Fr Y (IS A) FAT A2

Options :

1 % B0

) % D2
3.v 93
4. % Db

Question Number : 53 Question Id : 97675521675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of the squares of four consecutive even positive integers is 126. What is the average of 2 times the greatest
integer and 3 times the smallest integer among the given integers?

Options :

1% 24

2.« 26

3. % 28



Question Number : 53 Question Id : 97675521675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN FARTE TH U YOI & F @1 AT 126 T T 10 quier # ge@ 92 IOlte F 2 I 3R g9y
BIE Ul & 3 T[T & AlFd Fa1 grem?

Options :

| % 24

) 26
3 % 28

4 % 30

Question Number : 54 Question Id : 97675521676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do 75% of a work in 27 days and B can do g th part of the same work in 30 days. They work together for 12 days.

AR ; 2 TR :
C alone completed the remaining work in 10 days. C alone can complete 665 % of the original work in how many days?
Options :

| = 15days

,  lodays



3 % 18days

4 = 20days

Question Number : 54 Question Id : 97675521676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Awm&mﬁ%,ﬂ%ﬁﬁmm%aﬁxﬁﬂaﬁmg ameT 30 AT & T gwar 31 T 12
T T U Ty FF F g1 C F el AW Fy H 10 G F W W @ C 3he HqF FE H

662% #eT fhae At # U R Fehar 872
Options :

| % 15 &=

2. v 16 fea
3.&;318%7'[
4. % 20 &=

Question Number : 55 Question Id : 97675521677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To complete a certain work, the time taken by B and C together is one-third of the time taken by A alone. A, B and C

together can complete it in 12 days and C alone can do it in 20 days. A and B together can complete the original work

in how many days?



Options :
| = 24days

25 days
3 % 28days

4  30days

Question Number : 55 Question Id : 97675521677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v ARET FF N [ W F T, B 3R C @R vs @y o =@ 56T, ke A g@RT e
TR #1 TH-Taers 21 A, B 3R C fFee 30 12 & & U & & 8 3R C s 589 20 oAt A
T T Fhl gl A 3R B e #q &3 & foraa fGal & 1 & o &7

Options :

w24 f&a

, w 25 f&a
; % 28 o=
4. v 30 fe=

Question Number : 56 Question Id : 97675521678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Trains A and B of same length travelling in opposite directions, at 85 and 95 kim/hr, respectively cross each other in 15
seconds. In how much time (in seconds) does the train A take to cross a bridge of length 475 m?

Options :

1 ® 32

Question Number : 56 Question Id : 97675521678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A was HT T A AR B Fr Rl et & waen: 85 AR 95 km/h Fr T A I W B, TH g
H 15 FFE H 9N FT &1 T A, 475 m & I &I 9R e A Tohadell FAT (sec H) M2

Options :

1% 32

, % 35
3. ¢ 36

4 = 40

Question Number : 57 Question Id : 97675521679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A field is in the shape of a triangle whose sides are 96 m, 110 m and 146 m. The area of the field is equal to another
field which is in the shape of a rhombus. If the length of one diagonal of the rhombus shaped field is 165 m, then the

length of its other diagonal is:
Options :
1.« 64m

» ® 72m
3 % 80m

4. % 066m

Question Number : 57 Question Id : 97675521679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te el T RIS & 3R T g Srmer ST 96 m, 110 m HIT 146 m | 3T AT F &IPS TH
T HEA & ST F W § S TF TATGES & HFR H g1 T THAIGES F HFR & FoT F
T fasor Fr TS 165 m B, o $HE gAY faeuT @ wars FT g

Options :

|« B4 m

2. 72 m
3. % 80 m

4 ® 66 m



Question Number : 58 Question Id : 97675521680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following information and answer the question.

A company has 1200 employees working in its five departments — HR, Marketing, IT, Production and Accounts. 45% of

; i : 1
the total employees are males and the rest are females. The ratio of males to females in HR department is | : 3 and 5 th

of the number of male employees work in HR department.

20% of the females work in IT department and the ratio of males to females in IT department is 14 : 11. 30% of females
work in Marketing department. 25% of male employees work in Production department and the number of female
employees in Production department is 45 less than the number of male employees in that department. 54 males work in

Accounts department and the remaining in Marketing department. The number of females in Accounts department is 60.

The number of male employees working in Marketing Department exceeds the number of female employees in

Production department by:
Options :
1 ® 32

7 & 33

3 ® 42

Question Number : 58 Question Id : 97675521680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



oA fofla ST T 3CTTT ¢ HT 997 F7 3ca &

TF FIAr H 1200 FAINT & S $He 9 A0 - A FAA (HR), foqom, g=ar stemfEedr (171),
3cqee AR T sl & FRRT g1 7 FARAl # § 45% 9 § AR AV AfgAw g AT FAAT

W{Hﬂ}ﬁwmmﬁmmhsﬁmwmﬁmﬂi 1T AT
HEUS 9T (HR) H &R g

20% AfgemT Fgaar ST (IT) e & FrRg § 3R gaar seaifFer (IT) femr & gt 3k
A3 7 HI 14 1 11 81 30% Afgard oo fsmr # srng g1 25% /Y FAan 3c9eA
fremer F g g 3 3oaea [T 7 #fger FE=Er & & 397 e 7 FEa Wéﬁﬁ?lﬁﬁr
Hr TEIT W 45 FH g1 54 II9 oG T H R ¢ AN A Ao Fsmr 7 wRRa §) o e
H Afgamsir &1 g=ar 60 gl

famorer freaer & SRR RV FAUNET $ HEAT ES FHET H FEG Afgel SHAET S FEA H
forgelr 37 272

Options :
1 % 32

2. v 33
3 % 42

4 % 43

Question Number : 59 Question Id : 97675521681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the following bar graph and answer the questions.

700

Imports and Exports of a company during 2014 to 2018 (in Rs Crores)

600
E Imports

W Exports

500

450 440 450

-

400

300 A

Rs Crores —-

200 A

100

2014 2015 2016 2017 2018
Year ——>

What is the ratio of the total exports of the company in 2015 and 2016 to the total imports in 2015 and 20187
Options :

1. % 13:16

) # 15:14

3 ¢ 15:16

4 % 14:15

Question Number : 59 Question Id : 97675521681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

.% 13 : 16
) % 15 : 14
3¢ 15 : 16

4 % 14 : 15



Question Number : 60 Question Id : 97675521682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following graph and answer the question.

Percent profit earned by five companies
(A, B, C, D and E) during 2019 and 2020
Percent Profit = (income — expenditure)/expenditurex100
70
60
4. 55
50 2 "
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A B C D E
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In the year 2019, the expenditure of the company B was 2 75 crores, then what was its income (in ¥ crores) in the same
vear?

Options :

1. ® 95

> % 100

3« 105

4 % 120



Question Number : 60 Question Id : 97675521682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 61 Question Id : 97675521683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

I felt really afraid by dogs when I was walking home from the club.
Options :



1. % felt
2. ¥ by
3. * when

4. % from

Question Number : 61 Question Id : 97675521683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

I felt really afraid by dogs when I was walking home from the club.
Options :

1. # felt

2. % by

3. # when

4, % from

Question Number : 62 Question Id : 97675521684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

I am tired of talking to myself. You never listen me. I get annoyed at the way you are behaving.

Options :

1. # tired of
2. % talking to
3. % listen me

4. # annoyed at

Question Number : 62 Question Id : 97675521684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.



I am tired of talking to myself. You never listen me. I get annoyed at the way you are behaving.

Options :

1. # tired of
2. # talking to
3. % listen me

4. # annoyed at

Question Number : 63 Question Id : 97675521685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

You’ve got to face up to your responsibilities. You can’t just ignored them.

Options :
1. % You've
2. % got
3. % face up
4. ¥ ignored

Question Number : 63 Question Id : 97675521685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. One is incorrect. Choose the INCORRECT option.

You’ve got to face up to your responsibilities. You can’t just ignored them.

Options :
1. * You’ve
2. % got
3. % face up
4. ¥ ignored

Question Number : 64 Question Id : 97675521686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

tell me (P) / something about (Q ) / your current job (R) / can you (S)
Options :

1. ¥ SPQR

2. % PQSR

3. % SRPQ

4. ¥ RPSQ

Question Number : 64 Question Id : 97675521686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

tell me (P) / something about (Q ) / your current job (R) / can you (S)
Options :

1. ¥ SPQR

2. % PQSR

3. % SRPQ

4. % RPSQ

Question Number : 65 Question Id : 97675521687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

people can do (P) / many things that (Q) / there are (R) / to reduce pollution (S)
Options :

1. % PQRS

2. ¥ RQPS

3. ¥ SPRQ



4. % RSPQ

Question Number : 65 Question Id : 97675521687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in CORRECT order.

people can do (P) / many things that (Q) / there are (R) / to reduce pollution (S)
Options :

1. # PQRS

2. ¥ RQPS

3. % SPRQ

4. % RSPQ

Question Number : 66 Question Id : 97675521688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Please follow / the doctor's advices, /or else you will / not get better.
Options :

1. % Please follow

2. ¥ the doctor's advices

3. % or else you will

4. % not get better

Question Number : 66 Question Id : 97675521688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

Please follow / the doctor's advices, /or else you will / not get better.
Options :



1. # Please follow

2. ¥ the doctor's advices
3. % or else you will

4. ¥ not get better

Question Number : 67 Question Id : 97675521689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

It was a difficult to accomplish.
Options :

1. # quite; feet

2. % quite; feat

3. % quiet; feet

4. % quiet; feat

Question Number : 67 Question Id : 97675521689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option is appropriate for the blanks.

It was a difficult to accomplish.
Options :

1. % quite; feet

2. ¥ quite; feat

3. ® quiet; feet

4. ¥ quiet; feat

Question Number : 68 Question Id : 97675521690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the CORRECT meaning of the underlined idiom.



Let us go inside the house and discuss this matter, let us not wash our dirty linen in public.

Options :

1. #® washing clothes where everyone can see
2. ® not washing clothes till they are dirty

3. # watching people fight in the street

4. ¥ unpleasant private matters discussed in public

Question Number : 68 Question Id : 97675521690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the CORRECT meaning of the underlined idiom.

Let us go inside the house and discuss this matter, let us not wash our dirty linen in public.

Options :

1. # washing clothes where everyone can see
2. # not washing clothes till they are dirty

3. % watching people fight in the street

4. ¥ unpleasant private matters discussed in public

Question Number : 69 Question Id : 97675521691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who does not know how to save money
Options :

1. % miser

2. % hoarder

3. # penny-pincher

4. ¥ spendthrift

Question Number : 69 Question Id : 97675521691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who does not know how to save money
Options :

1. * miser

2. % hoarder

3. # penny-pincher

4. ¢ spendthrift

Question Number : 70 Question Id : 97675521692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Have you read the story about the and the tortoise?
Options :

1. # heir

2. * hair

3. % hare

4. % hear

Question Number : 70 Question Id : 97675521692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Have you read the story about the and the tortoise?
Options :

1. #* heir

2. % hair

3. ¥ hare

4. ® hear

Question Number : 71 Question Id : 97675521693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

I cannot on my work when there is a lot of noise outside.
Options :

1. # examine

2. ¥ concentrate

3. % attract

4. ® organize

Question Number : 71 Question Id : 97675521693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

I cannot on my work when there is a lot of noise outside.
Options :

1. # examine

2. ¥ concentrate

3. % attract

4. ® organize

Question Number : 72 Question Id : 97675521694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the ANTONYM of the given word.

Heroism
Options :
1. # Courage
2. # Privilege
3. ¢ Timidity



4. # Strength

Question Number : 72 Question Id : 97675521694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the ANTONYM of the given word.

Heroism
Options :
1. # Courage
2. % Privilege
3. ¥ Timidity
4. % Strength

Question Number : 73 Question Id : 97675521695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

The staff meeting has been put off for a week.
Options :

1. # planned

2. # cancelled

3. % postponed

4. % advanced

Question Number : 73 Question Id : 97675521695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the meaning of the UNDERLINED idiom in the given sentence.

The staff meeting has been put off for a week.
Options :



1. # planned

2. % cancelled
3. % postponed
4. # advanced

Question Number : 74 Question Id : 97675521696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

The art of beautiful writing produced using a special pen or brush
Options :

1. # Caricature

2. % Cartography

3. ¥ Calligraphy

4. % Pictograph

Question Number : 74 Question Id : 97675521696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate one-word substitution for the given group of words.

The art of beautiful writing produced using a special pen or brush
Options :

1. #¥ Caricature

2. % Cartography

3. ¥ Calligraphy

4. % Pictograph

Question Number : 75 Question Id : 97675521697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the grammatically CORRECT sentence from the following options.



Options :

1. # Rama was to tired, so the others went their without her.
2. % Rama was to tired, so the others went there without her.
3. % Rama was very tired so the others went there without her.

4. ¥ Rama was very tired, so the others went their without her.

Question Number : 75 Question Id : 97675521697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the grammatically CORRECT sentence from the following options.
Options :

1. # Rama was to tired, so the others went their without her.

2. % Rama was to tired, so the others went there without her.

3. % Rama was very tired so the others went there without her.

4. ¥ Rama was very tired, so the others went their without her.

Sub-Section Number : 2
Sub-Section Id : 9767551379
Question Shuffling Allowed : Yes

Question Id : 97675521698 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

On a cold winter day, Emperor Akbar and his favourite minister Birbal were walking along the lake that was in the palace garden. Suddenly, a
thought occurred to Birbal that a man would do anything for money. When he said so to Akbar, the Emperor said, “I don’t think a man would
spend an entire night in the cold water of this lake for money.” Birbal replied, “I am sure I can find such a person.” Akbar then challenged Birbal
to find such a person and said that he would reward the person with a thousand gold coins.

Birbal managed to find a poor man who was desperate enough to accept the challenge. On the appointed day, the poor man stepped into the lake.
There were guards posted near him to ensure that he spent the whole night in the lake. The next morning the man was taken to meet the Emperor.
Akbar asked the poor man if he had indeed spent the night in the lake. The poor man replied that he had. Akbar then asked the poor man how he
had managed to spend the night in the lake. The poor man replied that he had done so by looking at a street lamp that was at some distance from
the lake. The thought of a warm street lamp had given him some comfort. On hearing this, Akbar refused to reward the poor man as he had
survived the night by thinking about the warmth of the street lamp. The poor man was terribly disappointed and he decided to approach Birbal for
help.



The next day, Birbal did not go to the Emperor’s court. Akbar sent a messenger to look for Birbal. The messenger came back saying that Birbal
would come once his rice was cooked. Many hours passed but Birbal did not come to the court. Finally, the king decided to go to Birbal’s house
to see what was keeping Birbal away from the court. He found Birbal sitting on the floor near some burning twigs and a bowl filled with rice
hanging five feet above the fire. Akbar laughed and said to Birbal, “I thought you were a clever man. How can you cook the rice if it so far away
from the fire?” Birbal answered, “My Lord, the same way the poor man received warmth from a street lamp that was at some distance from the
lake.” The King realized his mistake and gave the poor man his reward.

Sub questions

Question Number : 76 Question Id : 97675521699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Akbar’s challenge to Birbal was to find a person willing to:
Options :

1. # accept one thousand gold coins.

2. % spend some time with the emperor.

3. ¥ spend one full night in the cold lake.

4. # obey the emperor’s orders.

Question Number : 77 Question Id : 97675521700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The king posted his guards near the lake to make sure that the man:
Options :

1. # did not speak to anyone.

2. % spent the entire night in the cold lake.

3. # did not get anything to eat.

4. # did not die of cold.

Question Number : 78 Question Id : 97675521701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The poor man had managed to spend the whole night in the cold lake by:
Options :

1. ¥ looking at a warm street lamp that was a little far away.



2. # thinking of the promised reward.
3. % talking to the king’s guards who were near the lake.

4. # Jooking at the emperor’s palace.

Question Number : 79 Question Id : 97675521702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on your reading of the passage, which of the following statements is INCORRECT?

Options :

1. ¥ Akbar did not reward the poor man because he had been comforted by the thought of a warm street lamp.
2. % Birbal was trying to cook some rice in a pot that was kept five feet above the fire

3. % Akbar went to Birbal’s house because he had been invited for lunch.

4. # The poor man went to Birbal for help because he was upset by the king’s decision.

Question Number : 80 Question Id : 97675521703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on a reading of the passage, it can be said that Birbal:

Options :

1. # used his closeness to the king to make sure the poor man got his reward.
2. # was good at playing tricks on the king.

3. % was not interested in going to the Emperor’s court .

4. ¥ used his intelligence to make sure that justice was done to the poor man.

Question Id : 97675521698 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage carefully and answer the questions given below.

On a cold winter day, Emperor Akbar and his favourite minister Birbal were walking along the lake that was in the palace garden. Suddenly, a
thought occurred to Birbal that a man would do anything for money. When he said so to Akbar, the Emperor said, “I don’t think a man would
spend an entire night in the cold water of this lake for money.” Birbal replied, “I am sure I can find such a person.” Akbar then challenged Birbal
to find such a person and said that he would reward the person with a thousand gold coins.

Birbal managed to find a poor man who was desperate enough to accept the challenge. On the appointed day, the poor man stepped into the lake.



There were guards posted near him to ensure that he spent the whole night in the lake. The next morning the man was taken to meet the Emperor.
Akbar asked the poor man if he had indeed spent the night in the lake. The poor man replied that he had. Akbar then asked the poor man how he
had managed to spend the night in the lake. The poor man replied that he had done so by looking at a street lamp that was at some distance from
the lake. The thought of a warm street lamp had given him some comfort. On hearing this, Akbar refused to reward the poor man as he had
survived the night by thinking about the warmth of the street lamp. The poor man was terribly disappointed and he decided to approach Birbal for
help.

The next day, Birbal did not go to the Emperor’s court. Akbar sent a messenger to look for Birbal. The messenger came back saying that Birbal
would come once his rice was cooked. Many hours passed but Birbal did not come to the court. Finally, the king decided to go to Birbal’s house
to see what was keeping Birbal away from the court. He found Birbal sitting on the floor near some burning twigs and a bowl filled with rice
hanging five feet above the fire. Akbar laughed and said to Birbal, “I thought you were a clever man. How can you cook the rice if it so far away
from the fire?” Birbal answered, “My Lord, the same way the poor man received warmth from a street lamp that was at some distance from the
lake.” The King realized his mistake and gave the poor man his reward.

Sub questions

Question Number : 76 Question Id : 97675521699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, Akbar’s challenge to Birbal was to find a person willing to:
Options :

1. #* accept one thousand gold coins.

2. % spend some time with the emperor.

3. ¥ spend one full night in the cold lake.

4. % obey the emperor’s orders.

Question Number : 77 Question Id : 97675521700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The king posted his guards near the lake to make sure that the man:
Options :

1. #* did not speak to anyone.

2. % spent the entire night in the cold lake.

3. # did not get anything to eat.

4. % did not die of cold.

Question Number : 78 Question Id : 97675521701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The poor man had managed to spend the whole night in the cold lake by:
Options :

1. ¥ looking at a warm street lamp that was a little far away.

2. % thinking of the promised reward.

3. % talking to the king’s guards who were near the lake.

4. # Jooking at the emperor’s palace.

Question Number : 79 Question Id : 97675521702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on your reading of the passage, which of the following statements is INCORRECT?

Options :

1. # Akbar did not reward the poor man because he had been comforted by the thought of a warm street lamp.
2. # Birbal was trying to cook some rice in a pot that was kept five feet above the fire

3. % Akbar went to Birbal’s house because he had been invited for lunch.

4. ® The poor man went to Birbal for help because he was upset by the king’s decision.

Question Number : 80 Question Id : 97675521703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on a reading of the passage, it can be said that Birbal:

Options :

1. # used his closeness to the king to make sure the poor man got his reward.
2. # was good at playing tricks on the king.

3. % was not interested in going to the Emperor’s court .

4. ¥ used his intelligence to make sure that justice was done to the poor man.
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Question Number : 81 Question Id : 97675521704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fus’ farae! yafgard g2
Options :

1. % gdq

2. % ggd

3. % qOg

4. ¢4



Question Number : 81 Question Id : 97675521704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e’ fhde uatgard g2

Options :

1. % gdd

2. % dlad

3. % 94

4. ¢ ™

Question Number : 82 Question Id : 97675521705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT HT AT eg DI AT 8?2

Options :

1. % I

2. ¥ IRA

3. % XA

4. % foRd

Question Number : 82 Question Id : 97675521705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT BT AT Xeg B A 52

Options :

1. % WWd

2. ¥ IR

3. % ddd

4. % favd



Question Number : 83 Question Id : 97675521706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfSgt AT JeTar &1 qgt o F1 g2
Options :

1. # JHY WRIF D]

2. % gHY TG

3. % §HRGMI

4. SO Tt AT

Question Number : 83 Question Id : 97675521706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“gfedr AT GeTar &1 Tgt orf 1 g2
Options :

1. # HY W[ HAl

2. % gAY TGl

3. % §HR GMI

4. SOt A VI AT

Question Number : 84 Question Id : 97675521707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R U TRE BId & AIdIfad Bl Jugad 31 182

Options :

. ¢ THaIHTd g

2. % ABATHTA G

3. % 3[HHT Pl UHT BT

4. % Uh gHT H TS 5! HTH 1Y H o1 e T

Question Number : 84 Question Id : 97675521707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP R U TR Bid & Abliad BT Iugad 37 152
Options :

|. ¥ ThaIH T g

2. % APAHIA G

3. % 3[HHT Bl UHT BT

4. % U gHY H U 5! HTH 81U H o1 I1e T

Question Number : 85 Question Id : 97675521708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gAY T 313 & fTT Iuger HeTavl I A1 67
Options :

1. % T8 ARAT

2. ® Y PpIcHl

3. ¢ U el

4. % T UST &I ST

Question Number : 85 Question Id : 97675521708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o g Tamr 31 & fore Iuged HeTarT &1F 11 82
Options :

1. % T8 AR

2. % Y PhlcHl

3. ¢ U Bl

4. % T UST &I ST

Question Number : 86 Question Id : 97675521709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e &1 B gl
fYad =T & forg waifie Iuged fawed &1 9= 1|

Options :
1. % golq
2. % fagior
3. ¢ 3dlad
4, % QG-

Question Number : 86 Question Id : 97675521709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &1 g gl
Y R & fore waifie Iuged fdwed &1 9a $1 |

Options :
1. * goq
2. % fmio
3. ¥ 3dlad
4, % QG-+

Question Number : 87 Question Id : 97675521710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 I &1 U H1EH ] |

I & YGifhd 32 BT U B aTel Taiieh Sugad Xeq BT 994 B |
Options :

1. % TgoH

2. % YhR

3. % Y




4. ¢ Y9

Question Number : 87 Question Id : 97675521710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X AT 6T T W1 & |

I o XiThd 3 P UFARAT B a1 GaTID ITIad Xeg DI I Pe |
Options :

1. % TS

2. % JHR

3. % g1

4. YA

Question Number : 88 Question Id : 97675521711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS <@ ¥ A AR 9 e |

TR & ifohd 32 & o IuYad Tsg DI 1T ERT?
Options :

1. % BlS

Question Number : 88 Question Id : 97675521711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ¢ 7 A gIaR 4 fad |
qTag & Y@ifdrd 3 & oI IUged e I AT I



Options :

Question Number : 89 Question Id : 97675521712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTep + S T WET T = 7T 32
Options :

1. % g

2. % gD

3. % qIfiTRr

4. ¢ 9rft

Question Number : 89 Question Id : 97675521712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTp + ST BT TG Y T 172
Options :

1. % dib

2. % QIR

3. % g

4.« 9

Question Number : 90 Question Id : 97675521713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TNI@ oy UHR &1 71 52

Options :




1. ® Hfqdara®
2.« Y[ddrddh

3. % SfIfddras
4. % yerdfaras

Question Number : 90 Question Id : 97675521713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TNI@ oy TSR &1 7T 52

Options :

1. % Sfidrd

2. % H[AdIdD

3. % Wfdardd

4, % gerdrad

Question Number : 91 Question Id : 97675521714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qg’ A-TH & [UMaTae [ARIT0T T I
Options :

1. 3
2. % gl
3. % 3d-rl
4. % T

Question Number : 91 Question Id : 97675521714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g8’ a1H T T[UaTeIe fIRw0T -1 g1
Options :

1. 3




2. % TgT
3. % Ial
4. % ol

Question Number : 92 Question Id : 97675521715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WRd g A 799 R Y19 {6 gHe
Options :

1. % yfo

2. % iy

3. ¢ fde

4. % fawg

Question Number : 92 Question Id : 97675521715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA G A a8 RIRf Urg fad g
Options :

1. % Yfed

2. % dicdcy

3. v frdg

4. % fawg

Question Number : 93 Question Id : 97675521716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A1 T g 1 dTeRT T T
Options :

1. % Wi adAH

2.« TieT Yd



3. % 3quf yd

4. % g Hios

Question Number : 93 Question Id : 97675521716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TR g 1 TR T T
Options :

1. % iy godum

2. ¢ Ffawy yd

3. % 3quf Yd

4. ® g g™

Question Number : 94 Question Id : 97675521717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T & HAHH H WAl AEIey ST oORedM UATfad ¢ I” a1 & ford ST Ffe /2
Options :

1. % 3T & HRIHH H

2. % WAl Hgicy

3. ¥ D[ LA

4. % JEdd 5

Question Number : 94 Question Id : 97675521717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘3T & HAHH H HAl Aeled H1 A URATad ¢ I° a1 & fovd ST H Ffe ]2
Options :

1. % 3o & HTAHH H
2. % U AGIGY

3. ¥ P UL




4. % UIfAd g

Question Number : 95 Question Id : 97675521718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tt faagpa vt BT T8t 1 argat I a1 & e U H e 82
Options :

1. % T Tpert
2. ¢ fodpa i
3. % P sl

4. % HIAT TR

Question Number : 95 Question Id : 97675521718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Tt faaga vt BT T8 1 argat I a1 & e Ui & e 82
Options :

1. % T8 Nept
2. ¢ f9dgpa it
3. % PHH ol

4. % T AR

Sub-Section Number : 2
Sub-Section Id : 9767551381
Question Shuffling Allowed : Yes

Question Id : 97675521719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR DI AFYa® Uq 3R [T Y U4l o1 9! SaR < |

TRl 3R TPidl & [ & o 3R A Q1 &1 51 81U X8 8| 41 A T8 o T+ &1 GUR o 3 SR a9 A WXl &l St g1 e
AR 7 1 99 ST & 3R foram oft 3rsd o1 € 3 aft enf & pRor €1 e, 3ifen, Rive R, waw anfe it sred ot enf & afafd sma g1 e




g H U grar ¢ | fagm +f v &1 S o @ g ¢ | fae vl &l Sitaar & auT o 9, 9T, WIueR $11fe o 79 &1 Siiddl 81 31
g fam SR o TR &1 &< <) 98 o QR 81 ofd 89 o1 3R <=M & (TR &1 Ui 8BTS <71 3R IR TR ST 3071 90T | TIR &
Tt AT BT SUAT UTE THRT | 3 UHR AT 3R Whid J A &1 faHN gial e |

Sub questions

Question Number : 96 Question Id : 97675521720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢H, 79 IR i UTed bR g2
Options :

1. % fgUR, 3UT IR I Y

2. % W, U SR Srefiar ¥

3. ¢ AT, WUSR IR II A

4. % Tgw, e SR ueraTd @

Question Number : 97 Question Id : 97675521721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 Hd IR IR I AT FHSN?

Options :

1. ¢ 59 ¥ 3R o e &1 S

2. % Sq Y P11y A gt &

3. % S T 3R Wpid | A HH g

4. % 59 y¥ 3R fag Q A= Sfd &1 udd grm

Question Number : 98 Question Id : 97675521722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T\ T Xg- 9T Afad F1 Haardl g2
Options :

1. % g

2.« g




3. % fqugt
4. % qored!

Question Number : 99 Question Id : 97675521723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TIGaR 0T BT 3frd e &

Options :

1. % Al — i T 914 &1 AN

2. % g1f 3R fogH # I ot @

3. ¢ AT 3R GXpTa & faera & uw 3R fagm &1 aie=
4. % ¢ SR fagm o ofR

Question Number : 100 Question Id : 97675521724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RUHR T U By

Options :

1.#Y

2. % X

3. % OR

4. ¥ R

Question Id : 97675521719 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TRITRI 1 YD Ug 31R T T4 Uil 1 T8t SaR S |

T 3R TRpia & b & eaf 3R fagH 31 1 €t 81U T|aT &1 4 < A & 191 1 QR b 8 8IR fag = Tpfa oy Siiar 31 et
TR T &1 9 &l § 3R fora off o 701 § 3 et of & pon €1 e, i, Riue R, Taw ot et o o1 enf & siata ama &1 e
g A Uer giar 21 fag ot g &) SR § o X g | e uepfal 1 Sitaan & 9T o O, e, RIueR 1S | 79 &1 Siiddr g1 3fd:




gfe faR SR o FddHR | & al a8 far X 7161 o/d g4 odl 3R SR & foaR &l Ul 8IS ¢ 3R IR TR &1 U1 G0 | IR &
T AT Y ST HIE THS | 3 UHR TdT 3R Tpid I A o1 [aHm gidr e |

Sub questions

Question Number : 96 Question Id : 97675521720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o, 7 TR 9 o e R @2
Options :

1. % fOER, SgHa IR I

2. % Wi, UF 3R e ¥

3. ¢ 3T, RIUPR 3R I 4

4. % HgH, R 3R yaord 9

Question Number : 97 Question Id : 97675521721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H B IR IR &I 30T GG

Options :

1. ¢ 99 yH 3R fage fAraer a1 S

2. % O yif o1 1Y g 8t

3. % O Wl 3R YXpia A A HH g

4. % 5§ o R I T TG S &1 Ua- g

Question Number : 98 Question Id : 97675521722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG H Yg- 9Tl Ao T Hedldl g2
Options :

1. %

2. ¢ gl

3. % fud




4. % qored

Question Number : 99 Question Id : 97675521723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ERRIBIERRUE AR E RN C S

Options :

1. % I — Apid T AFa BT ARG

2. % of 3R fogH 7 I B @i

3. ¢ AT 3R Wpid o faemra & e SiR fagm &1 aivteq
4. % 4 SR fagm ¥ ofR

Question Number : 100 Question Id : 97675521724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIUSR’ T U B

Options :
1.%# Y
2. % I
3. % OR
4, v IR

Disciplinel
Group Number : 6
Group Id : 976755757
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

Disciplinel
Section Id : 9767551187
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551382
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675521725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Behaviorist theory is also called as
Options :

1. ¥ Connectionist theory

2. % Cognitive theory

3. * Neuro-Physiological theory

4. % Hierarchial theory

Question Number : 101 Question Id : 97675521725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HdgRaral Rigid &1 =0 H i TS|

Options :

1. ¢ GaroHardl Rrgid




2. % IIETHS Rigia
3. % TR-fBRoraied Rigia
4. % YgrImhitd Rigia

Question Number : 102 Question Id : 97675521726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the father of Behaviourism?
Options :

1. # Ivan Pavlov

2. # EL Thorndike

3. % John Watson

4. % Skinner

Question Number : 102 Question Id : 97675521726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 {59 agRare &1 siHe AT ST 82
Options :

1. % M UIddig

2. % 3. YHeRH

3. ¢ 99 dleq

4. % PR

Question Number : 103 Question Id : 97675521727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human learning and Behaviour consists of postulates and theorems
Options :

1.9 17, 133

2. % 17,134



3. % 16; 133
4. % 16; 134

Question Number : 103 Question Id : 97675521727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 e 3R FasR | FYRUMY 3R TR MM 5 |
Options :

1. 17,133

2. % 17,134

3. % 16; 133

4. % 16; 134

Question Number : 104 Question Id : 97675521728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory incorporates a behaviouristic, eclectic approach towards learning and teaching?
Options :

1. ¥ Gagne’s Theory

2. # Lewin’s Field Theory

3. % Tolman’s Theory

4. % Hull’s Theory

Question Number : 104 Question Id : 97675521728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S a1 RIgid Sifem & fd Ypamard eR@ior i fARefid v 52
Options :

1. ¢ T 31 Rigia

2. % AfaH o1 & Rigid

3. % TlqaH &1 Rigid



4, % gad o1 RIgid

Question Number : 105 Question Id : 97675521729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Learning is the acquisition of habits, knowledge and attitudes’ said by:
Options :

1. # Hilgard

2. % Woodworth

3. # Gardener

4. % Crow and Crow

Question Number : 105 Question Id : 97675521729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-3fRRTH 3T, T 3R RN 1 AR B, U6 fhud gRI He1 T e
Options :

1. ® fgerms

2. % geay

3. % MR

4.« BT 3R Bl

Question Number : 106 Question Id : 97675521730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the father of Genetics.

Options :

1. ¥ Gregor Mendel

2. % Watson

3. % Johanson

4. % Carl Rogers



Question Number : 106 Question Id : 97675521730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TIARIP & T 3

Options :

1. ¥ WRHSH

2. ® drcyqd

3. % SgHYA

4. % BT oy

Question Number : 107 Question Id : 97675521731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
depends on the growth of brain and nerves.
Options :
1. # Physiological growth
2. ¥ Mental growth
3. % Psychological impact
4. ¥ Maturation

Question Number : 107 Question Id : 97675521731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A& 3R diRerel & e R AR Hrar |
Options :
1. % TRING fabrg
2. « AR [dbT™
3. % FHIGYINS UHTd
4. % ORUS



Question Number : 108 Question Id : 97675521732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is important for pregnancy.

Options :

1. ¥ Progesterone

2. % Oestrogen

3. ¥ Melatonin

4. % Cortisol

Question Number : 108 Question Id : 97675521732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THITRIT 3 o FR@yul g
Options :
1. ¢ ORI
2. % 3TXISH
3. % [
4. % piféAA

Question Number : 109 Question Id : 97675521733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘Developmental task’ was first introduced by
Options :

1. # Eyesenck

2. % Woodworth

3. ¥ Robert Havinghurst

4. % Robinson

Question Number : 109 Question Id : 97675521733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fImrads S gg gduyd SR gl d fosam mar o7l
Options :

1. % 3ISY~H

2. % geay

3. ¢ JeC IR

4. % fe=E

Question Number : 110 Question Id : 97675521734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The period of early childhood age in child development is

Note: For this question, dlscrepancy 1s found 1n question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. birth to two years

2. three to five years

3. three to six years

4. six to twelve years

Question Number : 110 Question Id : 97675521734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fadhM TRUT Bt @iy SR SgHIfa sy Bl
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L SHI G ay

GBS VCEL




3.Fﬂ:f“@f€§:aﬁ
4. %: A IRE a¥

Question Number : 111 Question Id : 97675521735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Adolescence’ comes from the word which means ‘to grow’.
Options :

1. ¥ Latin

2. # Greek

3. # French

4. # Spanish

Question Number : 111 Question Id : 97675521735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Adolescence’ X[eG 1 Jcdftl 'J-ITEITQ_Q'EC%, Wﬂﬁ%'ﬂ—(ﬁ?l
Options :

1. ¥ dfed

2. % A

3. % 1hd

4. % WA

Question Number : 112 Question Id : 97675521736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Development is a process.
Options :

1. % Simple

2. % Complex

3. % Complicated



4. * Difficult

Question Number : 112 Question Id : 97675521736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[CEgRAeET gfhaT g1

Options :

1. # WA

2. iy

3. % offed

4. % B3

Question Number : 113 Question Id : 97675521737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The gland secretes its own chemicals called
Options :

1. # Proteins

2. ¥ Harmones

3. % Cholesterol

4. ¥ Steroids

Question Number : 113 Question Id : 97675521737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 U DT T FHgT oIl § S 3O W o TH! DI ATfAd Bt 572
Options :

1. % OIdH

2. ¢ g

3. % Dlogid

A

4, ® L3S




Question Number : 114 Question Id : 97675521738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The factors that lie within the individual are called
Options :

1. # External factors

2. ¥ Emotional factors

3. ¥ Internal factors

4. % Social factors

Question Number : 114 Question Id : 97675521738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hferd & HiR (Afgd BRep! Bl EHISIGI
Options :

1. # dIgl dRh

2. # H[dATHD HRD

3. ¢ 3IdRD HRD

4. % GHID HRD

Question Number : 115 Question Id : 97675521739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Erickson discovered crises in the development of an individual.
Options :

1. %6

2. %5

3.% 7

4. ¥ 8

Question Number : 115 Question Id : 97675521739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHE A fed o fdbr g | REZEIRCINEIl
Options :

1. %6

2.% 5

3.% 7

4. ¥ 8

Question Number : 116 Question Id : 97675521740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Psychoanalysis was propogated by:
Options :

1. ¥ Sigmund Freud

2. % Alfred Binet

3. ¥ Carl Jung

4. ¥ Abraham Maslow

Question Number : 116 Question Id : 97675521740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EUERSEL (EII$E|5IQ ”iéllilﬂ);m gfariad foar mam a1

Options :

1. ¢ ReTds BIus

Question Number : 117 Question Id : 97675521741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



psychology studies man’s thinking, memory and other mental processes.
Options :
1. # Humanist
2. ¥ Cognitive
3. % Transpersonal
4. # Educational

Question Number : 117 Question Id : 97675521741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A A &t T, WA 3R 379 ATRies Ufehanai &1 eg ol 8|
Options :

1. % HHgdmErE!

2. ¢ TIATHS

3. % WIAUKID

4. % fRIgTHD

Question Number : 118 Question Id : 97675521742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Edward Tolman is the founder of
Options :

1. # Gestalt Psychology

2. # Educational Psychology

3. ¥ Cognitive Psychology

4. % Psychoanalysis

Question Number : 118 Question Id : 97675521742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSae Tlaid & URIUS g



Options :

1. % FATY AATARH

2. % Qeffire TAIfaT
3. ¢ YIS TAARH
4. % FAIfIRATOT

Question Number : 119 Question Id : 97675521743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Freud’s theory of points out five distinct stages of development.
Options :

1. ¥ Psycho-sexual development

2. # Psycho-social development

3. % Cognitive development

4. ¥ Moral development

Question Number : 119 Question Id : 97675521743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Bl 1 RIGId AP & Uid 31e-STT TRUN B 3R SRIRT T 5 |
Options :

1. ¥ -0 faera

2. % HAI-THISIS fdehTd

3. % YYD fAbr

4. % Afq® fop™

Question Number : 120 Question Id : 97675521744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s the factor that is common to all mental abilities.
Options :



1. * Thinking
2. % Memory
3. % Intelligence

4. % Emotions

Question Number : 120 Question Id : 97675521744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 RS ¢ ol G AARID amarsfi & g 99 5

Options :

1. % 9

4, % YgMQ
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Question Number : 121 Question Id : 97675521745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two factor theory was proposed by
Options :

1. * Thorndike

2. % Spearman

3. * Thurstone

4. * Vernon

Question Number : 121 Question Id : 97675521745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A PRS Rgld_ gRIydIad fobar mar
Options :

1. % YFSRH

2. ¢ WA

3. % YT

4. % g

Question Number : 122 Question Id : 97675521746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
P.F.Vernon is a psychologist.
Options :

1. ¥ British

2. % German

3. % Swiss

4. # French

Question Number : 122 Question Id : 97675521746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dup. g Us  Hdee g
Options :

1. ¢ fafesr

2. % S

3. % g9

4. % g

Question Number : 123 Question Id : 97675521747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Guilford there are factors operating in one’s intelligence.
Options :

1. % 135

2. % 140

3. % 145

4.9 150

Question Number : 123 Question Id : 97675521747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AITHIS & SOR fordht & gfgan & HRG AhT B |



Options :
1. % 135
2. % 140
3. % 145
4. ¥ 150

Question Number : 124 Question Id : 97675521748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term ‘Mental Age’ was first used by
Options :

1. ¥ Binet

2. # Cattell

3. % Gardner

4. % Sternberg

Question Number : 124 Question Id : 97675521748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS R’ UG &1 TN FauyH SR o |
Options :

1. ¢ fore

2. % PHed

3. % MR

4. % TASH

Question Number : 125 Question Id : 97675521749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The students with 50-75 IQ are termed as
Options :



1. # Imbecile
2. % Normal
3. % Idiot

4. ¥ Morons

Question Number : 125 Question Id : 97675521749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50-75 g (1Q) aTd BT Bl HEI AT g |

Options :

Question Number : 126 Question Id : 97675521750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is including the disabled in the regular classroom.
Options :
1. ¥ Inclusive Education
2. % Segregation
3. ¥ Mainstreaming

4. # Integration

Question Number : 126 Question Id : 97675521750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faftra w1 faadi &1 =mfid sl g

Options :

1. « AR fRrem



2. % QYFHI
3. % O 4RI
4. % bl

Question Number : 127 Question Id : 97675521751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A model where two groups are being taught the same lesson is called
Options :

1. % Station model

2. % One teach one support model

3. ¥ Parallel teaching model

4. ¥ One teach one observe model

Question Number : 127 Question Id : 97675521751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hisd ofgi &l THg! &l Uh &1 UT6 UGl S &, FHEAr |
Options :

]. % WIAHIed

2. % g &9 91 9UIC Ared

3. ¢ GHMICR fRIgor grgd

4. % g9 dg 94 sifeqd Alsd

Question Number : 128 Question Id : 97675521752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does IEP stand for?

Options :

1. ® Instruction Education Plan

2. % Individualised Educational Program



3. #* Individual Enhancement Plan

4. # Inclusive Education Program

Question Number : 128 Question Id : 97675521752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
323Ut (IEP) &1 YUy a1 82
Options :

], % SR TIHIA WA

2. ¢ SSfATedgsS Tbh R WUy
3. % 3fSfaq3rd THeigde WM

4. % IHRIRAd TDHH URITH

Question Number : 129 Question Id : 97675521753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Salamanca declaration was adopted in the year
Options :

1. % 1994

2. % 1992

3. % 1995

4. % 1998

Question Number : 129 Question Id : 97675521753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT GIyoT (Salamanca declaration) oIy T 3O T AT
Options :

1. ¥ 1994

2. % 1992

3. % 1995



4. % 1998

Question Number : 130 Question Id : 97675521754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSA is a historic stride towards achieving the goal of
Options :

1. #® Universlisation of secondary education

2. # Universlisation of early childhood education

3. ¥ Universalisation of elementary education

4. ® Universalistion of pre primary education

Question Number : 130 Question Id : 97675521754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSA & W& D UK bR 1 (G201 H Th UfgRies Her g
Options :

1. % HIEAHeb TRI& BT FraHHIDR

2. % YRS F9U B FRIal &1 Fraifisu

3. ¥ TR R &1 g

4. % qd Ty e &1 gt

Question Number : 131 Question Id : 97675521755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does SEN stand for?

Options :

1. # Social Education Needs

2. % School Education Needs

3. # Special Environment Needs

4. ¥ Special Education Needs



Question Number : 131 Question Id : 97675521755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TY.E.TA. (SEN) &1 JUf U F1 g2
Options :

1. % OIA THTH 19

2. % TRd UIHRA -igd

3. % WA TARRAC AIgd

4.« WY TIHTH -iTgq

Question Number : 132 Question Id : 97675521756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Children should never be discriminated based on grounds of

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Disabilities

2. Gender

3. Community

4. Religion

Question Number : 132 Question Id : 97675521756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl & Iy Haft off b YR R HEHTd g1 fba1 ST =g Tl
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :
1. faepetivrar
2. fefm

3. TUEA
4. Y

Question Number : 133 Question Id : 97675521757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
can be viewed as a bridge between school education and higher education.
Options :
1. ¥ Teacher Education
2. % Inclusive Education
3. % Special Education
4. # Integrated Education

Question Number : 133 Question Id : 97675521757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oI Wi el 3R I e & g Bt pol S T H 7/ S IbdT 8|
Options :
1. ¢ fRiefep 1 e
2. % FHIGRI fRran
3. % fa=iy fRyenm

4. % Uplopd fRIef

Question Number : 134 Question Id : 97675521758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Inclusive Education various work together to
Options :



1. ¥ professionals; IEP
2. % teachers; IEP

3. # professionals; IP
4. # teachers; IP

Question Number : 134 Question Id : 97675521758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tuat Rendfaftm wanfiager . srfRuRu sl
Options :

1. ¢ gfidh; IEP

2. % 18, IEP

3. % giidp; 1P

4. % frefep; 1P

Question Number : 135 Question Id : 97675521759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One child instructs another-one child doing tutoring and child being tutored is:
Options :

1. % Group learning

2. % Peer Tutoring

3. % Parallel teaching

4. % Alternate teaching

Question Number : 135 Question Id : 97675521759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST GIR 1 (S AT 8- U 5= U 36T & 3R Uoh = &1 UGTT 1 38T §, 39 Ufehdl &1 o1 H8d 82
Options :

1. % g A



2. ¢ TEUTST (Peer) HTOTH
3. % UM Refor
4, % JPpfctre e

Question Number : 136 Question Id : 97675521760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The restructuring of classroom motivate the child in
Options :

1. # Integration

2. # Special School

3. ¥ Inclusive School

4. % Segregation

Question Number : 136 Question Id : 97675521760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 BT AR = Bl IR FRAT 3
Options :
1. % ThIhRUI
2. % faviy faermery
3. ¢ GHTAR faerey
4. % JQYGDH0

Question Number : 137 Question Id : 97675521761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Inclusive Education set up

Options :

1. ¥ each child is given equal opportunity

2. % each child is not given equal opportunity



3. % disabled child is not given equal opportunity
4. # disabled child is not treated equally

Question Number : 137 Question Id : 97675521761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHTAR R80T ogaw | |

Options :

1. ¢ TQ® S ) JHM R a1 Sran &

2. % YA S B GHM S(aeR g faar Siran @

3. % oo o= &) GHM SfaeR gl fRar Siran @

4. % eI o & UIY UM HaER el [ha1 orar 8

Question Number : 138 Question Id : 97675521762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In NGO’s play an active role in the provision of services for people with disabilities.
Options :

1. # England

2. ¥ India

3. % UK

4. ® Nepal

Question Number : 138 Question Id : 97675521762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T NGO fasmar anl & fore Tarsif & urgu™ & wftha Y Ay |1
Options :
1. % s
2. ¥ HRd

3. % gdb (UK)



4. ® 9OTA

Question Number : 139 Question Id : 97675521763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children with disabilities make use of of open schooling.
Options :

1. ¥ National Institute

2. # Distance Education

3. % Indian Institute

4. # State Institute

Question Number : 139 Question Id : 97675521763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fapai s 3T MU WHIeRT BT START I & |
Options :

1. ¢ 9¥Fd SReeye

2. % feL Y TgHyH

3. % 3fETTSReALC

4. % W 3RTe

Question Number : 140 Question Id : 97675521764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inclusive Education is

Options :

1. # Traditional

2. ¥ Holistic

3. % Modern

4. % Diagnostic



Question Number : 140 Question Id : 97675521764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR Rref gl
Options :

1. ® RWRATT

2. « qofdrard!

3. % YD

4. % qgI®
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 9767551384
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 97675521765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NPE was recommended in

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 1968

2. 1956

3. 1986

4.1976

Question Number : 141 Question Id : 97675521765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NEP &1 SR o P TS A
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 1968

2.1956

3. 1986

4.1976

Question Number : 142 Question Id : 97675521766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
is a medical term that can be measured and cured and it does not impose obstacles to a larger extent with any of the social pursuits of an
individual.
Options :
1. # Disability
2. ¥ Impairment
3. # Handicap
4. % Rehabilitation

Question Number : 142 Question Id : 97675521766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T FfdreT Req © ot ATOT SIR Sle fopan o1 Fohdl & SIR I8 foheit aafa o fopelt off wranfoies o & s =7eT STefa 5 |
Options :
1. % fqpefivrar
2. ¢ EHYd
3. % 3{UITAT

4. % U9

Question Number : 143 Question Id : 97675521767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete absence of visual perception is called
Options :

1. ¥ Totally blind

2. # Partially sighted

3. % Low vision

4. ® Legal blind

Question Number : 143 Question Id : 97675521767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T AT B QU UM P FETI G
Options :

| v gofe: e

2. % 3fcY T

3. % ey EfRaIed

4. * faftre efPaiad

Question Number : 144 Question Id : 97675521768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Person’s inability to hear properly
Options :

1. # Visually Impaired

2. # Intellectually Impaired

3. % Cerebral Palsy

4. ¥ Hearing Impaired

Question Number : 144 Question Id : 97675521768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hfad 1 3lh W A B SrTdar Sl gl
Options :

1. % Efyarfa

2. % SIfGH TU Y fawam

3. % HRKTSH 91d

4. ¢ SR

Question Number : 145 Question Id : 97675521769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Normal hearing is
Options :

1. % 21-41dB
2.¥ 10-19dB

3. % 41-60 dB

4. % 61-90 dB

Question Number : 145 Question Id : 97675521769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS I & gl

Options :

1. # 21-41dB

2.9 10-19dB

3. ¥ 41-60 dB

4. % 61-90 dB

Question Number : 146 Question Id : 97675521770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Otitis Media is a disease affecting
Options :

1. # Eyes

2. ¥ Ears

3. % Nose

4. ¥ Brain

Question Number : 146 Question Id : 97675521770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

nfefeq Hifsar B THIA B AT I B |

Options :



1. % 3fraf
2. & HH
3. % A%
4. % ORTSH

Question Number : 147 Question Id : 97675521771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sign language is used to communicate with
Options :

1. #* Visually impaired

2. % Orthopedically handicapped

3. ¥ Hearing Impaired

4. % Mentally retarded

Question Number : 147 Question Id : 97675521771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

il HTHT BT TN & 1Y "aTg I & o fowa et g
Options :

1. % efParfed

2. % IR fapetim

3. ¢ Yqul STl

4. % Hadfa

Question Number : 148 Question Id : 97675521772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Schizophrenia is a symptom of

Options :

1. ¥ Mental illness



2. # Visually impaired
3. % Hearing impaired

4. # Physically handicapped

Question Number : 148 Question Id : 97675521772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wied g bl (Schizophrenia) I Uh I&Ul gl
Options :

1. ¥ HHRYD |

2. % Efyerer

3. % HquUl d1eT

4. % RN fapairar

Question Number : 149 Question Id : 97675521773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The educators classify the mentally retarded under category.
Options :

1. % 4

2.¥3

3.%5

4. % 6

Question Number : 149 Question Id : 97675521773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRreres, ARG =0 A He A Bl gufiat o arifepd R B
Options :

1. % 4

2.¥3



3.%5
4. % 6

Question Number : 150 Question Id : 97675521774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At conception the newly born child receives totally number of chromosomes.
Options :

1. %23

2. %26

3.¥ 46

4. % 27

Question Number : 150 Question Id : 97675521774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & T TaeTd R & T R A TORE! Bt WA UT Bt & |
Options :

1. % 23

2. % 26

3. ¥ 46

4. % 27

Question Number : 151 Question Id : 97675521775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term legal blindness is defined as central visual acuity of in the better eye after correction.
Options :

1. ¥ 6/60

2. % 6/21

3. % 20/70

4. % 6/18



Question Number : 151 Question Id : 97675521775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafirer =f¥EdT g &I R & 91¢ SR 3ig o B S TR Aevrar & U § aRuTid fear man g
Options :

1. ¥ 6/60

2. % 6/21

3. % 20/70

4, % 6/18

Question Number : 152 Question Id : 97675521776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Xerophthalmia is a general term appliedto  deficiency disease.
Options :

1. # Vitamin D

2. ¥ Vitamin A

3. % Vitamin C

4. # Vitamin B

Question Number : 152 Question Id : 97675521776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y&HIEUTD (Xerophthalmia) T I Ueg ¢ i B! HHI B BRI GY I R AN T 2|
Options :

1. % fgerfi= b
2.« ferfiq A
3. % faerfd
4. % fqeiA B



Question Number : 153 Question Id : 97675521777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tinnitus is a latin word for

Options :

1. # Singing

2. % Speaking

3. ¥ Ringing

4. % Dancing

Question Number : 153 Question Id : 97675521777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefed (Tinnitus) ¥ fore U difed wiee 3
Options :

1. % Mg+

2. % dio

3. ¥ IeC

4. % 94

Question Number : 154 Question Id : 97675521778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mental illness is any mental disorder other than mental retardation was defined by:
Options :

1. % RCI

2. % PWD Act

3. ¥ WHO

4, % AAMR

Question Number : 154 Question Id : 97675521778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AR 7T, ARG Hedl & 3fedl dis W AFRe AR 8, 78 foras gr1 ulyiia fasar mar um
Options :

1. ®# RCI

2. ¢ PWD 3Hf&fTg

3. ¥ WHO

4. ¥ AAMR

Question Number : 155 Question Id : 97675521779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Intervention is best started in

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. infancy

2. early childhood level

3. pre-primary level

4. by birth

Question Number : 155 Question Id : 97675521779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gWay H 9eY 3/ TWd I YE QAT g
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. R=TE BT

2. TTYTHeh TR



3. J4-UTYfHe W)
4.9 Y

Question Number : 156 Question Id : 97675521780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of the brain development occurs in the first six years of life.
Options :
1. * 75%
2. % 80%
3. ¥ 90%
4. % 70%

Question Number : 156 Question Id : 97675521780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR @l e Sitad & ugd T8 i § g ST 8l
Options :

1. % 75%

2. % 80%

3. ¥ 90%

4. % 70%

Question Number : 157 Question Id : 97675521781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Early intervention and rehabilitation will have a major impact on development of speech and language of a child with
Options :

1. # Visually Impairment

2. ¥ Hearing Impairment

3. ¥ Mental Illness

4. # Orthopedically Impaired



Question Number : 157 Question Id : 97675521781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TXIAT 3R Gaiyg b S o dTep 3R HINT o faepT™ TR Th ST THTd TS|
Options :

1. % ef¥erfed

2. ¢ YAuIETed

3. % RIS AT drd

4. % 3R faain

Question Number : 158 Question Id : 97675521782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proper intervention during first ~ can prepare and help children to get included in mainstream of education.
Options :

1. # 2-3 years

2. # 2-5years

3. % 3-5 years

4. % 3.4 years

Question Number : 158 Question Id : 97675521782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & aRM IfUd 8%aY o=l o RIef &1 JeT URT H THIH 0d 811 & folt dOR 3R Aeg HR IHhdl g |
Options :

1. %2399

2. % 2,59y

3.9 3599

4. % 34799




Question Number : 159 Question Id : 97675521783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
saves the child from further deterioration and helps the child to acquire a number of skills.
Options :
1. ¥ Early Intervention
2. % Integration
3. # Inclusion

4. % Segregation

Question Number : 159 Question Id : 97675521783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= &I 3R Y AT T 161 & 9= B Bs DI YRaH A 7 HRaT g
Options :
1. ¢ Scg &
2. % DIl
3. % JHTGRH
4. % Ygqh [

Question Number : 160 Question Id : 97675521784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electroencephalogram lined with computer is used to record the activity.
Options :

1. % heart

2. % lungs

3. ¥ brain wave

4. ¥ physiological

Question Number : 160 Question Id : 97675521784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

W%Wﬂ Gfdies iaquHf%\dea{g (Electroencephalogram) BT IYTNT Tfafafy & Repis w1 & e frar Sar g |

Options :
1. # gad
2. % by
3. ¢ HRKISh T
4. % JRIND
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Section Id : 9767551190
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 97675521785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Weakness of one half of the body:
Options :

1. # Quadriplegia

2. # Paraplegia

3. ¥ Hemiplegia

4. ¥ Monoplegia

Question Number : 161 Question Id : 97675521785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRR & T oY R & HHSRY 1 Haard g2
Options :

1. % IRATYIA (Quadriplegia)

2. % 3fYRMTUIT (Paraplegia)

3. ¢ 3yfiara (Hemiplegia)

4. % THNTITT (Monoplegia)

Question Number : 162 Question Id : 97675521786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does CBR stands for?

Options :

1. ¥ Community Based Resource

2. % Community Based Rehabilitation
3. # Committee Based Rehabiilitation

4. ¥ Committee Based Resource



Question Number : 162 Question Id : 97675521786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
41§l 3fR. (CBR) &1 QUiREy &1 &2
Options :

1. % HRAT a¥s Rad

2. ¢ HRIFCT a¥s Refaferewm

3. % HUId o%e Refafaes

4. % HHI g% KA

Question Number : 163 Question Id : 97675521787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A child exhibiting a combination of two disabilities is termed as
Options :

1. # locomotor disability

2. % learning disabled

3. % multiple disabled

4. % orthopedically disabled

Question Number : 163 Question Id : 97675521787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< fap el o FUISH Bl FaRIdPA A TH D DRI 5
Options :

1. % TICT S1&rHT

2. % S{fENTH 3f&rdr

3. ¢ §g-fadhdiTd

4. % 3HRY faBeAid

Question Number : 164 Question Id : 97675521788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Education is the manifestation of divine perfection already existing in man” said by:
Options :

1. ¥ Swami Vivekananda

2. # Shankaracharya

3. % Mahatma Gandhi

4. # Dr. Radhkrishnan

Question Number : 164 Question Id : 97675521788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“fR1em I7sa & Ugd I faermm Sty yotar o1 sifioafad 27, fras gRT a1 T 32
Options :

1. ¢ Wl [ddbTig

2. % QHIER

3. % gl Mgt

4. % I AYTHUH

Question Number : 165 Question Id : 97675521789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aesthetic is a sense of

Options :

1. ¥ Humour

2. % Sorrow

3. ¥ Beauty

4. % Happiness

Question Number : 165 Question Id : 97675521789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i I UG § |
Options :

1. % g

2. % gd

3. ¢ Jaxdl

4. % Tt

Question Number : 166 Question Id : 97675521790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Philosophy is derived from two Greek words ‘phileo’ and ‘sophia’. Phileo means
Options :

1. ¥ Love

2. % Wisdom

3. % Knowledge

4. % Truth

Question Number : 166 Question Id : 97675521790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frarawt, & T Xeal Bifcrr IR Fifhar ¥ e 971 5| Hiferr &1 31 152
Options :

1.¥ 0"

2. % fqddp

3. % 3

4, % 94

Question Number : 167 Question Id : 97675521791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aim of Education is



Options :

1. % Thinking

2. % All round development
3. ¥ Wisdom

4. #% Creative

Question Number : 167 Question Id : 97675521791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e w1 3e=a gl
Options :

1. % 99

2. ¢ gafir fder

3. % fqde

4, % Al

Question Number : 168 Question Id : 97675521792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
develop the concentration of mind.

Options :

1. % Knowledge

2. % Education

3. ¥ Yoga and Meditation

4. % Wisdom

Question Number : 168 Question Id : 97675521792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T B THTIT BT [dHT Xl g |
Options :



1. % A

2. % e

3.« AT 3R M
4. % fgd®

Question Number : 169 Question Id : 97675521793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Socrates is an

Options :

1. # pragmatist

2. ¥ idealist

3. % naturalist

4. % eclectist

Question Number : 169 Question Id : 97675521793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YHId T gl
Options :

1. % TSHard!

2. ¢ 3ERATa]

3. % gpfadrat

4. % f3fiFeRHag

Question Number : 170 Question Id : 97675521794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

denies the existence of anything beyond nature.
Options :
1. ¥ Naturalism



2. # Pragmatism
3. % Idealism

4. % Realism

Question Number : 170 Question Id : 97675521794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ui A IRt oft I & 31T B TR 3|
Options :
1. ¥ Upfdarg
2. % JIedIG
3. % 3fIeRiarg
4. % gYIaTG

Question Number : 171 Question Id : 97675521795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Emile was written by

Options :

1. # Voltaire

2. % Montesque

3. ¥ Rousseau

4. ¥ Lamarck

Question Number : 171 Question Id : 97675521795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UER| ERUEIREIKIN

Options :
1. % GleedR
2. % TR



3. ¢ &
4. % QHTD

Question Number : 172 Question Id : 97675521796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pragmatism is a philosophy of experience.
Options :

1. ¥ Practical

2. # Learning

3. % Theoretical

4. ¥ Natural

Question Number : 172 Question Id : 97675521796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITSaTG 3IHd BT R 3|
Options :

1. ¥ HGgIRD

2. % 3ffeRTH

3. % gifdsd

4. % YIpided

Question Number : 173 Question Id : 97675521797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Democracy and Education was written by:
Options :

1. # William James

2. ¥ John Dewey

3. % Francis Bacon



4. % Ratner

Question Number : 173 Question Id : 97675521797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T8 TSI Y& fbadp gRI ferd 718 el
Options :

1. % faferam o

2. ¢ S Sl

3. % IR gh

4. % TR

Question Number : 174 Question Id : 97675521798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a Nabagunjar philosophy.

Options :

1. ¥ Eclectism

2. # Naturalism

3. # Pragmatism

4. % Realism

Question Number : 174 Question Id : 97675521798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh TEN]SR (Nabagunjar) TR
Options :

1. ¢ fafireeiarg
2. % Ypfddrg
3. % ggiorarg
4. % gUfaTE



Question Number : 175 Question Id : 97675521799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
School is an active  agency of Education.
Options :

1. # Non-formal

2. ¥ Formal

3. #* Informal

4, % Passive

Question Number : 175 Question Id : 97675521799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foemer, e Te Al IR
Options :

1. % TR

2. ¢ TN

3. % JMIUBIRG

4. % fAfspy

Question Number : 176 Question Id : 97675521800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the first learning environment for a child.
Options :
1. ¥ Home
2. % School
3. ¥ Community
4. # Society

Question Number : 176 Question Id : 97675521800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= & YR & foIT Uge ardraRul w8l & Ui gidl 82
Options :

1. ¥ TR

2. % fagre™

3. % g

4. % AN

Question Number : 177 Question Id : 97675521801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Society is an agency of Education.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Alternative

2. Informal

3. Passive

4. Formal

Question Number : 177 Question Id : 97675521801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS, 1811 1 Teh TR

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 3RS



2. IAIYBIRG
3. s
4. 3MUATR®

Question Number : 178 Question Id : 97675521802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The New Education Policy stressed on
Options :

1. ¥ Vocationalisation

2. # Internationalisation

3. % Socialisation

4. % Community

Question Number : 178 Question Id : 97675521802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ts fRren Hifa R OR fearmarg|
Options :

1. ¢ HGIRDHRO]

2. % SIRIFIH

3. % gHTSIHUI

4. % G

Question Number : 179 Question Id : 97675521803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The village crafts are technically called SUPW
Options :

1. % Societal Useful Productive Work

2. % Socially Useful Productive Work



3. # Societal Useful Production Work
4. % Socially Useful Production Work

Question Number : 179 Question Id : 97675521803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I I &I db-iie! ©U I T.g, 0 3=, (SUPW) 8l ST & | 39T JURSY T 82
Options :

1. % ONEcd gugpd Uisfaed ab

2. ¢ TIRICH gopd Uisfacd adb

3. % Oged gulpd USaRM ddb

4. % IRl JoIpd UISaRM b

Question Number : 180 Question Id : 97675521804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEPSN is a scheme to promote for the disabled
Options :

1. #® Secondary Education

2. # Primary Education

3. ¥ Higher Education

4. ® Higher Secondary Education

Question Number : 180 Question Id : 97675521804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9.3 U9 T, (HEPSN) faswai & fom & §Td1 ¢4 DI U T g |
Options :

1. % oIt fRen

2. % U fRraf

3. ¥ I TRIaf



4. ® I HIAfHD fRram
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Question Number : 181 Question Id : 97675521805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NHFDC is a scheme for enhancing employment of persons with or more disabilities.



Options :
1. ¥ 40%
2. % 30%
3. % 50%
4. % 20%

Question Number : 181 Question Id : 97675521805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TA.09.0%. 313 (NHFDC) 34 fasw i safaadl & ISR &l dgH & e Th Ao g s 31 i faswai ]|
Options :

1. ¥ 40%

2. % 30%

3. % 50%

4. % 20%

Question Number : 182 Question Id : 97675521806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ established Casa de Bambini.
Options :

1. # Froebel

2. ¥ Maria Montessori

3. # Roussoeu

4. % Russel

Question Number : 182 Question Id : 97675521806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 S JIfTet (Casa de Bambini) ® R FgfaRad 7 9 foea o
Options :

1. ® Thiad



2.« HINGT AT’
3. % =4
4. % A

Question Number : 183 Question Id : 97675521807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term of central co-ordination committee of PWD Act 1995 will be for
Options :

1. % 5 years

2. ® 2 years

3. ® 4 years

4. ¥ 3 years

Question Number : 183 Question Id : 97675521807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul &g Sl (PWD) ST 1995 BT beild FHY HiH{d BT BribTe & ferg g
Options :

1. % 599

2. % 29y

3. % 499

4.4 399

Question Number : 184 Question Id : 97675521808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The central executive committee of PWD Act 1995 consists of  persons.
Options :

1. % 20

2.9 23



3. %25
4. % 21

Question Number : 184 Question Id : 97675521808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 S=g . (WD) R 1995 B Hefia prfeRT Tfdfa § AT g B |
Options :

1. % 20

2.9 23

3. % 25

4. % 21

Question Number : 185 Question Id : 97675521809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does ALIMCO stand for?

Options :

1. ¥ Artificial Limbs Manufacturing Corporation
2. % Assisstive Limbs Manufacturing Corporation
3. # Artificial Legs Manufacturing Corporation

4. ® Assisstive Legs Manufacturing Corporation

Question Number : 185 Question Id : 97675521809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 318, TH.I3M. (ALIMCO) &1 quf =0 F1 82
Options :

1. ¢ SCHIRTd ferey Bghaa i HIRURTH
2. % 3R forey AgthaaiTT HRURRH

3. % SNEHIRTS o A-gthaaiT HIRURTH



4. % SRURCT Y HYBIIRT HRURTA

Question Number : 186 Question Id : 97675521810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MLL was recommended by .
Options :

1. ¥ NPE

2. % NCF

3. % RCI

4. % NCERT

Question Number : 186 Question Id : 97675521810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
MLL &1 3FRT GRI &I TS |
Options :

1. ¥ NPE

2. % NCF

3. % RCI

4. % NCERT

Question Number : 187 Question Id : 97675521811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ called his school as Kindergarden.
Options :

1. # Montessori

2. ¥ Froebel

3. ¥ Rousseau

4. # Russel



Question Number : 187 Question Id : 97675521811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= 30 I ®! fbsmaA (Kindergarden) ol |
Options :

1. % ATy

Question Number : 188 Question Id : 97675521812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Free periods must be given for developing the  side of the pupils.
Options :

1. ¥ Creative

2. % Homework completion

3. #¥ Taking a nap

4. % Weaker

Question Number : 188 Question Id : 97675521812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Renffdi s e e % forg qu sraf (o6} difas) R s et
Options :

1. ¢ JIATHD

2. % GHaD I AT

3. % Uh D! od §U

4. % HAGR

Question Number : 189 Question Id : 97675521813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Motessori has coined the word ‘Directress’to take the place of the
Options :

1. # Principal

2. % Headmaster

3. % Teacher

4. % Facilitator

Question Number : 189 Question Id : 97675521813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIRENE & for SR Weg A B
Options :

1. % QYRR

2. % YYD

3. ¢ e

4. % JHdgh

Question Number : 190 Question Id : 97675521814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The student council should supervise all the
Options :

1. # Curricular activities

2. ¥ Extra-curricular & Co-curricular activities
3. # Implementing Assessment

4. ¥ Time table

Question Number : 190 Question Id : 97675521814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



oAURTEHI AH BT e S Anfgul
Options :

1. % gr&gehd Tiafafeal

2. ¢ 3faRad uTeusH 3R Tg urgasmH nfafafiar
3. % Heich+T A A

4. % gOY YR

Question Number : 191 Question Id : 97675521815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The students learn to be

Options :

1. ¥ Independent

2. % Dependent

3. % Liable

4. % Unadventurous

Question Number : 191 Question Id : 97675521815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BH CEEIRStCR ]

Options :

1. ¢ Wda

2. % 3iyd

3. % JTRGM

4. % gD

Question Number : 192 Question Id : 97675521816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is known to be the Cradle of Democracy.



Options :

1. # Classroom
2. # Laboratory
3. % Playground

4. % Home

Question Number : 192 Question Id : 97675521816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 Tleb i BT UTSHHT (shSel) Pl STl 3|
Options :
1. ® D&
2. % TRINTRITC
3. ¥ QA BT HGH
4. % W

Question Number : 193 Question Id : 97675521817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Poliomyelitis is caused by

Options :

1. # Terratogens

2. % Polio virus

3. ¥ UV rays

4. % Alcohol

Question Number : 193 Question Id : 97675521817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
giferafafafed (Poliomyelitis) % PRI |

Options :



1. % e

2. ¢ Uiferd) IRy
3. % QRIS fon
4. % YRS

Question Number : 194 Question Id : 97675521818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cytolomegalo virus is associated with

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Learning Disabled

2. Visual Impairment

3. Autism

4. Mentally Retarded

Question Number : 194 Question Id : 97675521818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁﬁ?ﬁ diRY (Cytolomegalo virus) T Heferd % |
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. TETH S{&HdT
2. EfBETYT

3. WAl

4. Togfard



Question Number : 195 Question Id : 97675521819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Down’s Syndrome results from the failure of the ~ pair of chromosomes.
Options :

1. % 20t

2. ¥ 21

3. % 23md

4, % ppnd

Question Number : 195 Question Id : 97675521819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRGHIREI & g & [Amdadl & SRU S 8|

Options :

1. % 208
2. ¢ 219
3. % 239
4. % 29

Question Number : 196 Question Id : 97675521820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which model the regular teacher assumes the responsibility of the classroom teacher as well as the resource teacher?
Options :

1. % Cooperative model

2. % Dual teaching model

3. ¥ Resource model

4. % Combined model

Question Number : 196 Question Id : 97675521820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafeRad § @ fooa aisa & Fafia e, e e & Try-ary Iary= Riere o rer) +f fFumarge
Options :

1. % GgHRIAlGd

2. ¢ QIe]T RIgur ared

3. % GO Alsd

4. % Ygad Aled

Question Number : 197 Question Id : 97675521821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Special Education is an integral part of general education system in
Options :

1. ¥ Inclusive Approach

2. # Integrated Approach

3. ¥ Combined Approach

4. ¥ Cooperative Approach

Question Number : 197 Question Id : 97675521821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fariy fRref H AT g goret &1 Teb St Si gl
Options :

1. ¢ GHAR ERDIT

2. % UDHIPHd DB

3. % Igad eI

4. % YgbRI EPDIT

Question Number : 198 Question Id : 97675521822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Sensori motor stage is from

Options :

1. % 2-7 years

2. ¥ birth-2 years

3. % 4.7 years

4. % 7-11 years

Question Number : 198 Question Id : 97675521822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B SR, HAGT AR HEaAN 5|
Options :
1. %2799
2. ¢ T2 qY
3.% 4799
4.% 71199

Question Number : 199 Question Id : 97675521823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10+2+3 system was brought by

Options :

1. ¥ Kothari Commission

2. # Secondary Education Commission
3. % Hunters Commission

4. % Sadler Commission

Question Number : 199 Question Id : 97675521823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrem Taeft 10-+2-+3 HoITet foraas gRT vRATad ot T8 22




Options :

1. ¢ BISRT TN
2. % ATAMS AT IR
3. % gL HHITA

v o
4. ® SR hHIRME

Question Number : 200 Question Id : 97675521824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first school in India for the deaf was set up in
Options :

1. ¥ Delhi

2. ¥ Bombay

3. % Calcutta

4. % Madras

Question Number : 200 Question Id : 97675521824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o §fR1 o forg et fasnmera T =TfUd foam mar |
Options :

1. % ool

2. ¥ §iFd

3. % hldpdl

4. #* Hglq



